VOLAPÜK FOR EVERYONE  (XI)

11. DAMN IT!  WE HAVE A PUNCTURE!!

PLEASE READ ONCE MORE the second part of Volapük for Everyone (III), which explains the PASSIVE.   

There you will see that we added the prefix PA-  to the PRESENT TENSE of the verb.

However, for all the other verb tenses only the letter P- is added, for example:

Kidof = she kisses;   pakidof = she is kissed;  pekidof = she has been kissed.

Logob = I see;   pologob = I will be seen;   pulogob = I will have been seen.

Dog beiton = the dog bites;  dog päbeiton = the dog was bitten;  dog pibeiton = the dog had been bitten.

In the first (underlined) example, the person/thing is DOING SOMETHING, but afterwards, by means of the PASSIVE, the rôle is reversed;   now the person/thing which was doing something is HAVING SOMETHING DONE TO IT!

CAN YOU SAY:

He has been kissed.    I will be seen.    The coffee will be drunk.   The book was read.    The lady was bitten.    The flowers will have been plucked.

LOOK AT THE FOLLOWING SENTENCES AND SEE HOW A SENTENCE CAN BE COMPLETELY „TURNED AROUND” :

Kidof cilis = she kisses the children.   Cils pakidons fa of = The children are kissed by her;

Ereidom buki = he has read the book.  Buk pereidon fa om = the book has been read by him.

Äplököf floris = she plucked the flowers;  Flors päplökons fa of = The flowers were plucked by her.

Dog obik ibeiton kati = My dog had bitten the cat.  Kat pibeiton fa dog obik = The cat had been bitten by my dog.

Man odrinom tiedi = the man will drink the tea.  Tied podrinon fa man = The tea will be drunk by the man.

Läd ulogof flenis = The lady will have seen the friends.  Flens pulogons fa läd = The friends will have been seen by the lady.

(In the first sentence, we see SUBJECT + OBJECT, but in the second sentence the OBJHECT  HAS NOW BECOME THE SUBJECT!)

CAN YOU „TURN AROUND” THE FOLLOWING SENTENCES AS ABOVE:

Oreidom buki.   Drinof kafi.   Kat äbeiton dogi.   Vom ukidof manis.   Ivisitobs jiflenis.   Ereidoms delagasedis.   Givom moni.   Ekolkömobs sölis.   Äremofs floris.   Ilavob blodi oba.

The ACTION of most verbs passes DIRECTLY to the noun which accompanies it.

However there are some verbs which cannot do this without help.   Look at these sentences:

Man logom jevodi        = The man sees the horse,                  but:

Man seadom su jevod   = The man sits on the horse.

Vom ästunidof gadi = The woman admired the garden,         but:

Vom ävobof in gad  = The woman worked in the garden.

No elabobs slipacemi = We haven’t got a bedroom,              but:

Eslipobs su glun        =  We have slept on the ground. 

LOGÖN (= to see);  STUNIDÖN (= to admire);  LABÖN (= to have) are called TRANSITIVE

VERBS because they need no help to join up with the following word (= noun);

But SEADÖN (= to sit);  VOBÖN (= to work);  SLIPÖN (= to sleep) are called INTRANSITIVE
VERBS because they need the help of SU (= on) and IN (= in) to join up with  the following word                 (= noun).

How shall we recognize these two kinds of verbs?   We will assume that all verbs are TRANSITIVE unless they have the word I/T in brackets after them;  for example:

SEADÖN (i/t)  =  to sit;  VOBÖN (i/t) = to work;   SLIPÖN (i/t) = to sleep 

We shall then know that these are INTRANSITIVE  VERBS and need the help of a PREPOSITION.   (We shall learn more about prepositions on the next stage of our journey!)

CAN YOU SAY:

I had a beautiful bedroom;   I slept in a small bed.   She has seen my cat;  it was seated on a book.   He will have a mansion;   he will work in the garden every day (= aldeliko).

Please do not forget to check the exercises you have done with the KEY.
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